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Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Q1) Attempt any five of the following : [5 × 2 = 10]

a) Define the Indian economy.

b) Define war finance.

c) Define third world countries.

d) State the role of the department of Defence production.

e) Define war time economy.

f) What is a peacetime economy?

Q2) Attempt any four of the following : [4 × 5 = 20]

a) DRDO

b) War potential

c) Arms production

d) Rationing

e) Inflation
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Q3) Attempt any four of the following : [4 × 5 = 20]

a) Write salient features of the Indian economy.

b) Explain the role of the department of defence expenditure.

c) Explain source of finance.

d) Explain third world countries’ meaning and concept.

e) Explain military industrialization.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) Explain Indian Defence spending from 1947 to till date.

b) Explain the relevance of the arms production to third world countries.

c) Explain in detail the importance of DRDO in war.
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gyMZm :- 1) gd© àíZ A{Zdm`©.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.
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àíZ 1) Imbrbn¡H$s H$moUVohr nmM àíZ gmoS>dm. [5 × 2 = 10]

A) ^maVr` AW©ì`dñWm ì`m»`m Úm.

~) dm°a \$m`ZmÝg ì`m»`m Úm.

H$) {Vgè`m OJmVrb amï´> ì`m»`m Úm.

S>) g§ajU CËnmXZ {d^mJmMr ŷ{_H$m gm§Jm.

B) ẁÕH$mbrZ AW©ì`dñWm ì`m»`m Úm.

\$) em§VVm H$mbrZ AW©ì`dñWm åhUOo H$m`?

àíZ 2) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) S>r Ama S>r Amo

~) `wÕ J{V_mZVm

H$) eñÌmñÌo CËnmXZ

S>) aoeqZJ

B) MbZdmT>
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àíZ 3) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. [4 × 5 = 20]

A) ^maVr` AW©ì`dñWoMo gwá d¡{eï>ç {bhm.

~) g§ajU IM© {d^mJmMr ŷ{_H$m {bhm.

H$) gmog© Am°\$ \$m`ZmÝg ñnï> H$am.

S>) {Vgè`m OJmVrb amï´> AW© Am{U g§H$ënZm gm§Jm.

B) bîH$ar Am¡ÚmoJrH$aU ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. [2 × 10 = 20]

A) 1947  Vo AmOn ª̀VÀ`m g§ajU IMm©Mo g{dñVa {díbofU H$am.

~) {Vgè`m OJmVrb amï´>m§À`m eñÌmñÌ CËnmXZmMm aobodÝg ñnï> H$am.

H$) ẁÕmVrb S>r Ama S>r Amo Mo _hËd g{dñVa {deX H$am.
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